
                             600 Dri-Bar System

Part Description                                                                           Part #   Cost

600 Dri-Bar System 975.00$     
1.0” Frame Clamps ( for PMP)                                            FR-PMP-1    72.88$       
1.25” Frame Clamps                                           FR-125 72.88$     
1.25” Frame Clamps W. relief for XXX                                             FR-125 XXX   84.26$       
1.375 Frame Clamps                                                                                 FR – 1375 72.88$       
¼” Teflon Installation Screws                                                                       20-T-SC 0.43$         
¼”-20  Grease Zerk                                                                                                            25GZ     5.37$         

12.25” Torsion Bar                                                                            875-12-25 TB 196.99$     
10.75” Torsion Bar                                                                        875-10-75 TB   196.99$     
Concept Torsion Bar                                                                           Concept TB 196.99$     
Torsion Bar Clamps ( limit’s side travel )                                                     875CL 37.56$       

10.75 Adjustable Arm Base                                                                     BA-1-01     64.80$       
12.25 Adjustable Arm Base                                                                        BA-1-02 64.80$       
.095 Dri-Bar Blade   ( for 5/15 Heim )                 BL75-5-095 89.50$     
.109 Dri-Bar Blade   ( for 5/16 Heim )                                                    BL75-5-109 89.50$       
.125 Dri-Bar Blade   ( for 5/16 Heim )                                                     BL75-5-125 89.50$       
.095 Dri-Bar Blade   ( for 3/8 Heim )                                               BL75-6-095    89.50$       
.109 Dri-Bar Blade   ( for 3/8 Heim )                                BL75-6-109   89.50$       
.125 Dri-Bar Blade   ( for 3.8 Heim )                                                     BL75-6-125 89.50$       
.109 Dri-Bar Helper Blade                                                                       BL-75H-109 49.50$       
Sliding Secondary                                                                                          SD 1  35.87$       
Top Hats for Secondary Bolts                                                                             TP001 5.86$         
Left Side Arm Cable Bracket                                                                  CB002L   5.96$         
Right Side Arm Cable Bracket                                                                         CB002R 5.96$         
Aluminum Arm Retention Washer                                                                      M001   4.99$         

Aluminum Drop Links   ( 5/16 Heim )                    M005 12.85$       
Aluminum Drop Links   ( 3/8 Heim   )                                                                  M006 12.85$       
Right Hand  5/16 Drop Link Heim                                                                                                                                                                                    MM – 5Y 12.60$       
Left Hand    5/16 Drop Link Heim                         MB – 5Y 12.88$       
Right Hand  3/8   Drop Link Heim                                                                MM – 6Y 13.93$       
Left Hand    3/8   Drip  Link Heim                                                                 MB – 6Y 14.20$       
5/16 Right Hand Jam Nut                                                                                  JNR –5 0.47$         
5/16 Left Hand Jam Nut                                                                                     JNL – 5 1.08$         
3/8 Right Hand Jam Nut                                                                                   JNR – 6  0.51$         
3/8 Left Hand Jam Nut                                                                                       JNL – 6 1.46$         



Cockpit Control Unit  ( 1” tubing )                                                               CC 1000 176.95$     
Cockpit Control Unit  ( 1.125“ tubing ) CC 1125                                        176.95$     
Cockpit Control Unit  ( 1.250” tubing )                  CC 1250 176.95$   
Cockpit Control Cable Mount W/Bracket  1”                                                                         CM 1000 73.30$       
Cockpit Control Cable Mount  W/Bracket 1.125”                                       CM 1125 73.30$       
Cockpit Control Cable Mount   W/Bracket 1.25”                                        CM 1250 73.30$       
Control Cable  75”                                                                                           CC 75 59.40$       
Female 10-32  Cable Heim Joints                                                                       MW 3 9.48$         
Complete System Bolts Kit                                                                                            27.00$       


